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tn

Sky appears blue duc (o

(A} ispersion

(B} Scatiering of hight

(C} Atmespheric refraction

(D) Reflection

A cowvergmg beam incident o the interface of fwao
moedin of refractive indwes p, and p, a5 shown in
figure, I, > p,, then

N

c
(A) The ravs of beam will converge above the pomt O
(B} The ravs of beam will converge below the point C
(L3 The rays of beam become parallel
() The ravs of beam will mest at pomnt ©
What s the equivalent resistance between Pand 0 im
the following network’?

A
P
(G
_I'J-
L4
iR SR R 4R
(A0 Ty (B = () ry (¥ &

Alter shower ol rain, a rainbow 15 80060

(A Armvwhere mothe sky {B} Towards the sun
() Opposite 1o the sun (D) Alter sunset

In figure shown, a light ray 15 cident on face AB of
prism ABC and reaches to Gace AC at on angle of 307
with the normal, The angle of incidence is (Refractive
index of prism = 2 )

= 'IIE

(AN (Bp4s®  (Cpe0® (D) 90°

L)

1.

s Fre & w1 fem @ Ao e SmoE -
(A ) e

(B) e o g

() arrReitE s

(O TR

v st g R o A B s
G T C G R R L GGG R ] T

= g
\_/-

(A BRI i € % ¢ arfeTaiea S0
(B) feey famg C 9 irg arfirnfin w0f

(C) Farmeoi waree &1 wni

(DY P} faeg C w2 PFrenfa erfl

P 187 () 6 W s i s ity -

)

H

0
o

IR SR R 41
EA:-_T I.H']T if‘]; rm?
a6 & arg ey weE fEad dm 2 -
(AyaRTT A R (B S Ww
() A A fafra ae (D) yaler 6 g
firme o W (e fisn ABC & @as AR W
e S o | de weE AC W AR AR 300
g4t g0 gt £ oo gw Mo @ | AB R
W FI T F0 (i F7 amad 2#)

A

= n-E

(&) 307 (B 45%

()60

(D) ®
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6. The sun s vistble to ws about 2 nunutes before the 6 WFEFTETaETE e et B 84 =
aciual sunnse, this phenomena 11 doe o A &1 Fret | 3 gEa g see @
(A) Dispersion () FaEmm
(B) Scattering of light (B} FeFr @ e
(C} Refestion (7} et
(D) Atmospheric refraction (D) Frgoschia s
7. A particle starts o move with velocity 10 m/s and T U @ =0 9 10ms @ 9 W AR S g e
aceeleration -2 mfs? at t = 0, find its velocity afier 4 | T T TR -2 mis B, A 0= 8 see TR S
socond in ms, A m's § AR T —
(A E (816 () i (o2 (A8 (B16 () (D) 2
8. A particle starls {0 move with zere mitial velocity and 8. UF WU I WRERR G @ W HRST EE T 9
acceleration 2 m/s? then find the displacement travelled T T 2ol B T O ERT =2 sec W 1= 4 we
(in m) by particle from ¢ = 2 sec to1 = 4 sec. & W 7 R T ERRE (inm) W e -
(A 16 (d214 (112 (0 1 (A) 16 (B4 _I:.'E'] 12 (D) Lo
9 Circumicrence of circular cross section of wire A is 9, T FEia HE A “'F“T A AT “ﬁﬁT t T'FH U
equal to the perimeter of square shape cross seetion of ATy e Srade Jrd o B & @i fEE & afag
wire B. Il the material and lensgths of botli wires arc & wET & | A S ant @ vee 1 o g wee
same, (hen ratio of resistance of A 1o B is £ A T AT B & U &1 S0 6 $RET —
(A4 B)2:x OV wd DL m um:4 (2w (C4:w (DH)l:x
. A particle of mass meis moving with accelesation a I, T Fme forwE S o B 7w W 59 W F a9
when force applicd on it 35 F Mow the same force s ST AT & THE o o F | O A 98 a9 o6
applied to & particle of mass 3m then What will beths gt g frei ceme 3m # we @ o &) o
acccleration of mass 3m. F T
i a i i
(A) T (B} = ) 5 ) R a 2 L il
3 2 4 3 CA) 3 (B) 5 i) 1 (D) 5
11, In the circwt grven below, the volimeter reads 30 W 1. = 8w ooy # dieeHied  u=dis 30V E, o1
then the resistance of the resistor B s 1o O o3 O 1 e B 3
_Cq. — i
e -
Gl ey
2005k B0l [ —‘ 20053 840 £3
‘ ™ ‘ |
| It
B0 LAY
(A} 300 02 (B} 400 £2 {A) 200 02 (B} 400 £
() 60K £2 (B) 1200 L2 () GUKD L2 (D) 1200 £2
SFACE FORROTCHWORK
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12, Ina bike race, bike A 1akes T scconds less than bike B 12, TF g 70 1 95F ASE T 79 0 TnE B 2 see
at the I'|.|:||5|:|||:g lwg and passes the l.l.lfli.ﬂlfll.l'.ll_el Lie wath e e el & o aiftm v g2 adm AT a4 At
ST AT e e B 37 1 v ufam 9 v | aw e gy w6 we

Tk Slai rom rasl and Iravel wi consiant Ll i ¥ we TTH F ;
accelerations 5 m's® and 4 nw's® respectively, then v is W A Bl 3, el S el
CER L HH TS R S
egual o
(A) B mis (B) 85 ms (A) 8 mis (B) §,/5 mis
(C) 4.5 mis (D) 4 mis (T} 445 mys (D) 4 s

13.  In summer season, Ramesh feels hot m his room. He 13, e s @ He A T E a8
turns on his gir conditioner and he measures that the g4 (8 8 Au=r AC ong v B ol ag Ao #
temperamre of the room lalls frem (400 « 01°C o fF THF F99 FT AT {400 + 1y T T (230
(230 + 0.1°C. The decrement m lemperature is + D0PC @) @ g, a1 dEe # e ge 6
(A) 15°C (IS0 £ I (AN 15°C (Bi{l3.0 4+ 01C
(C)I50 + B2PC (D) (650 + D2PC (150 + D2PC (DYBED + D2PC

14. A particle of mass 3 ko 1s moving i a circular part of 14, U 3 kg werEE o @00 2mds & Brarm i @ @R o
rachus 3m with constant speed 2 m’s i a horeontal ¥ 5m e & w9 A vl w0 T # A F wm owE
plane then Iind the net force applied on the particle. aTell Sl e Ellﬁ el
(A§2 N iBy24N ]

(A)2IN (B1Z4 N
(CI3INM (yam (€32 N (D)4 N

153, According to F']E_in Dwurknpcflicc station, [!I'::H':i, &IF A5, B gl ¥R # 7% FIR # SO0 T8 AT 19
Aowas ol rest waiting for a red light ol ocrossing when i 3 5 SR
. : I : A R w3 [ g e ol o) sl e o
it was hit by another identical car B from rear =ide = B3 A
Both cars had their hand breaks on, and from their skid i e Wi A Dl
marks it 15 sunnused that they skidded together about 2 % &8 W Eﬁﬁ.E‘H T WD T @ A S
m in the anginal direction of travel before coming, 1o faast & ar- @ dgd 9m wd [ A wn A oo
rest If cocificient of friction 1 s (L%, then what must Fikreett # | Al e 02 o O - 0.8 8 61 T
have been the speed of car B just before the eollision” # dip 9Ed HR B 39 w@ B 7 (g = 10 ms?)

(g = 10 mis?)
(A) 24 m's (B} 12 m's (A5 24 m's (E) 12 mis
(C) 48 m/s (D) 36 mis (C) 48-me (F) 36 mis

16,  The potential energy funciion Tor a field force § is 16, o e l_ml"ﬁ' &l BV “A“}'Tﬁﬁm piel

given by % = =Axy, where A s o constant, then T O FW BT W I WEW § o AT 3T E (AR A
UE R 8)

(A) F=Apa+y) (B F= A(yi+x)) (A) F=A(xi+yi)  (B)F=Alyi+x)

(CHF=Alyi=x) (D) F=ADC+y0) (C)F=Alyi-x1) (D) F=A( 4 v%))

17.  As shown in the figure, threo forces arc actmg at a 17, firg # faend sqar o R fon oft dede oeg aw
I:"i".'lllll'll objest I:ll'r.mli.mi F‘.: The torgue on the ﬂhjixtabm.:l #F T w1 PR T W I O
i e £ (ot .06 o okl et o St s A S Y (2 T GG Tl e
passing through O perpendice its pluas: o fmg O 9 o ok @ For

e &)
SPACE FORROTCITWORK
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(A} Zero {B)3FR (A} Zero (B} 3FR
v ﬁ]—"w o B JEFW
' 2F+—- R - 2F+—- R
() 2FR {1} [ ﬁ 7 / (') 2FR (1 [ ﬁ 7 |
18. A block of mass m is moving with initial speed 10 m/ 18, TF wSEAE T S T IR 10 mes
s 0n a reugh surfsce having frction coefficient p = 0.2 UF TS WAE FEEE p = 0.2 & W iy e A
Kigét-the, thi: ailer Wi Kud. Dloce WiLL st iwislig. Ry e AT A S s wE -
(Alt= 15 (Bli=3s 3 i
(Ai=1s (Bli=335
(Cri=33 (Mr=ds (Cht="5s (DL=45
1%, A ropeof length 21 and mass m 1s hanging from a rgd 19, vF e e 20§ A S md O 2R
1
: - |
5up|m1.11m:uulnnmﬂu:mp¢madrﬂlm}ﬁmn el '-’Igﬁ'ﬁ“wﬁs'ﬁqmmﬁ;gﬂq?ﬁlm
the ngid support will be ’
b nseil vy 9y wTT S )
() (6 208 m 2
—_— B 2m
3 3 (AY=— B -
3 3
am m
() AL (0 =8 Smy mg
6 6 iC) = i T
20, A block of mass m s placod on a plank of mass Zm : _ _
which 15 placed on smooth herizontal planc. IF a 20, uF oiw FEEE T m K"_'F AT i f
horeantal foroe F s applied on the plank such that TOOAT 2m & O T AT © | Wi e s O Tl
block and plank move together, then work done by the 8 afE v BfEW @E Feie 0 g 9w @A
friction force on the block o first two second of its R & | Fores =it T W fen v v wg iy
Jowmey witl be gvd & ot oo g g0 wiE 9e wem 2 secd fE
TRT ST BN T —
F 2F 3 1
A —— (B] =—— F* | o
) om m (A) — (B) =
D im
2F° -
TR Ty .LF-
€ om \ifezm (Cf — (D) Zero
9m
SPACE FORROUCTTWORK
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21.

23.

25

26,

7.

The fllewing equation represents calsmation of lme
slong

CaCO,(s) == Ca0 (s) + CO,
The amount of quick lime {Cald) obtained bs
calcimation of 106 g of the lins siong is
(Ay 100 (By30g (C)itg (D) 4g
Whech of the following is a combination reaction 7
(A} CaCO, + 2HCI —=CaCl, + CO_+ H.O
(BN, + 3H — INH,
(C) 2END, — ZENO. + O
(D) Zn +HS0, — ALO, + 2Fe
The resction of water with ammionia i given by the
following cquabion, in this rcacton waler acls as
HO + NH, &= NH; + OH
(A} neutral (B) base
(C) aced (0 both aced and base

Neatrons are present m all aloms excepd
(A)He iBc (C) H{D¥Ne

The clectronic configoration of Cr (atoang number
241 15

(A 187, 267 2p'. 387 3pf. 467 3d°

(B} 15 2%, 2p°, 3s 3p*, ds! 3d°

(C) b5, 257 297, 3s° 3p°, 45" dp!

(D 155, Is* 2p~, 35° 3p° ds' 4p’

The elememt with the highest first sonisation polendial
I5e

(&) Boron (B Carbon

(C) Kilrogen (0 Creyvmen

Which clement is found n homan body

(A)Pb  (B)Fe (C)Cd (D) Al

Hydrogen bonding between water & ammoma i
H H

| I
AYH—0-- H—I‘ld {B) H_—I*I~I--—H—f.|]
I
H H H H

PART B - CHEMISTRY

21.

ZL.

Fre1 afiiern @fAmas weEbe & foes @1 o
&

CaCO,is) === Ca0 (s) + CO,
100 o wfms gy & fBeea | oo (Cal) @)
Hran &
(A)100g (Bisog (C)ys6g (D) 40
fe f | A v Haras afalfmen @ -
(A) Cal'0, + ZHCL —>CaCl, + CO,+ H.0
(B) N, +3H,—» 2NH,
(C) 2ZKNO, — ZKNO, + 0,
(D) Zn + HS0, — ALO, + 2Fe
e R e W ol R I L B G T i
s o Wkt 21 osn afifEen A ww B me
e @ea § HO + NH, & NH) + OH
(40 AT (B 5T
(Cy v (D) W d = el

ferma afaf¥am et uvampt & st aofiem 21 8-
{4)He iBc (CYH (D) Ne

Cr (99 FHim 24) @ soag i fimam & -

(A) 18, 2s° 2p*, 3s° 3p', 4s°3d'

(B} 157, 257, 2p°, 357 3p', &' 3d°

(Cr 18, 257 2p°. 357 3p°, 457 dp*

(D) 1<, 26° 2pf. 3¢ 3p°. 4s' 4p'

foFs T o1 W A i waias § -
YL e (B @A

(C) g T (D) afarirar

ff=1 ® | ®H d AFY TR J UE @ § -
(&5 Pb (B] Fe (C) Cd (D Al

WA T i & i Heawe & -
H H

I
(A) H—O--H—N (B) H—N «~H —0
I I I !
H H H H

UGHWORK
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| |

() H—N—H- E[‘-—H (D} None of these () H N H. ?—H (D} None of these
I I
H H H H

29. Boiling point of 2, TAE R F R
CH-CH-CH_-NH_{T) CH~CH-CH_-NH_ {T)

CH-CH_-NH-CH {II}, CH;CH:—HH—CHJ][‘.L

CH, CH-

I : )
CH—N-CH, {Ill) in order of- CT-TT-."L—CH1 (11T}
(AT =11 =M1 By M=1=1M (AN D= T1 = 10 (B) I =1=11
(Cral=1=1 (DY =11 =1 (CYI =1 =11 (M =M=1

3. How many sigma and pi bonds are present in letra I,  TETEEAT FEmEteE | G fe aa mE aeg Safien
cyanocthylene 3
(Athnnu and |'u|'lu;*.r E-ai}‘_‘ﬁﬂw H
(B} Fivew and nineo (B} O & 740 o
(C) Nine o and seven 1t (C) Mo wmn
(D) Eight o and eight = ol 4 & i _ _

31. Observe the following figore carcfully. which is 3. P [t eaenda m-lﬂr. i, 'Jﬁr. A o it
showing the initial conditions of the systems when all uitfrefive (o il AT @5 & e oS 0°C R ) @
valves are closed and systom s at 0°C 1

Whale (2 b 3]
L '_,.-l"' III R R
[ =]

IF all valves are opened and svstem is-allewed 1o come Afe Tt T = 5 A T T W A WA &
at gquilibrium at same temperature, then calculate AR g e FRa garen 2 ag devdler @) o) ﬂi-[lal'1
difference in gos pressure between the two amms of §or i T Fif
epatreder [in atmosphere ), Assuming the complets T = A A (A ) o o I

A : H nife i NHg) + HCHg) — NH Clis) #1 gof
et O IR EHE 5 U ekt el deh & oo senfle ove o i Al @
any volume of sohid produced and connccting (b :
Assume that the manometer is suMicienily long amd I A ¥ | AeAniET e S e aaar @
thin; [R = 0082 atm Lémol K] [B= 10082 atm Limol K]
Y ERL R {Cy3 (D 1 (LY ERIEEES (C) 5 {1

SFACE FORROUCHWORK
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3. The wave functions of 35 and 3p, arbitals are given by 32, 3s T 3p FEH B o0 WA T g S AW f
o Tl i o P g o g
h_l_:lﬁ._l_ e II-\__+|.__|_- i 1 £1 14 123 i i
wartde) bogf 1 a, iy - 2 Gl fr e
W P ] ] ot |_| .
Wi 51 Hl’lﬂ'\. R Wil A ¥ d
o V3172 _Im ] e ;
P =5l ” Ry Eat o L 1':|:""1-:lf4 ""WE] ot
; ; | o — ‘ - ,.! i
From these we can conclude PowEERS L) Ja, Al 30,
(A} Number of nodes for 3p_and 35 orbitals is equal g4 B e et R waen #
(A} 3p T 35 TEHI H i B HE0 wE BT B
(B} The angular wodal surface of 3p, orbirtal has the (B} 3p, ®ERn & i TS g o e o=n
equation B =g G . _
(€} The radial nodal surface of 3s orbiral and 3p_orbital (C) 3s T 4 3p, T o R A 9 T 6
are at equal distanee from the nocleus A W B B
(D 35 electron have less penetrating power nto the ':F]'] 3¢ ATl B S q A AW Sp IEA A
nuclens in comparison o 3p electrons a4 gl # _
33. Which ane of the following dibasic acids on srong | 33 Fr=1 A 9 #F0 famam apq &1 wi ™ &0
heating gives CO, CO and HOH g C0O, CO wen HOH g
(A) Formic acid (B) Oxalic.acid  (C) Malonic acid (A i wm (B) ieifas as () Al
(1)) Succinic acid arg (1Y) FeFfeE are
3. The compound which gives the most stalile 3. B A @ FT A Frfe W e
carbonium 1on an dehvdration is: TR A aAE
A . — Ek
(A) CH, li"ll CH,0H i CH_a—tI“H—['HlDH
CH, C,
?H‘ CH,
(B) EH:"?"{}H (8) CH, (I OH
CH, CH,
¥ CH-CHL-CH,-LH 01 (C) CH,-CH.-CH.-CH,OH
{jH OH
(0 CHy-CH-CH,~CH, ([ 'E'H_;—A'H—CH —LCH,
5. i ' o
35, In the following reaction, 35 fe .
Q!
N cone. FIMC, @
H cone H 50, J\© o ||;"::f;
T 4
SFACE FORROUCHWORK
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The structure of the major product X is

(A} @L MO,
H L
H

O, M
2 \@\ 0}
(B )
s

H

Q)3
(i) N

H

H

NO,

e avarg XAl e R

NO,

NO.

(h ﬂﬁrq/g\ N
# B

36, The [UPAC name of the given compound
3. CH,— CH—C=CH—CH, atfhs =
CH,— CH—C=CH—CH, is- | | '
' | ' OH  CH,
OH  CH. 3
' IUPAC = & —
(A) 1 2-Dimethyl-2-buotenol {A) 1.2-Dimethyl-2-butenol
(B}, 2.3-Dimetizyl-3-peatznol (B) 2.3-Dimethyl-3-pentcnol
(€1 3.4-Donethyl-2-buten-4-ol (C) 3.4-Dimethvl-2-buten-4-ol
(D) 3-Methyl-3-penten-2 ol (D) 3-Methyl-3-penten-2-ol
37. Two flasks of cqual volume arc conneeted by & narmow 37, TR M & @ WE 270 R U e o
tube (of neghable volume all ot 27°C and contam IO W S B T W W & e T 0. allm
(76 moles of H, at (15 ptm. One of the Mask = then W H, @ 070 WE @ g3 £ 7 0 v o @)
pnmersed nto a bath kepd at 1270, while the other 127°C 0 T w4 ¥ e e & o T w270
vemains al 27C. The number of moles of H, in flask | U VT T 8 o G O o ae a1 H & e )
and flask 2 areo e Bl
(AN Mobes in Nask 1 =04, Maoles o Mask 2 =103 (AT | A =04 93 2 & 5 =03
(B) Moles m flask | = 6.2, Moles m flask 2 = 0.3 (B | & W =02 932 & d0d =03
SFACE FORROTCHWORK
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(C) Moles m Mask 1 = 0.3, Moles m flask 2 = 0.2 (Cyoar 14 9| =03,979 2 @ Ha=02
(D) Modes in fask 1 = 0.4, Moles in flask 2 = 0.2 (DurE 1 d4E =04, 95 2 & HE=0.7

38. Onc mole of an idcal monomomsc gas cxpanded 38, TFA WAEE I T U A TN
rrreversiblby o fwo stape expansion el afid & 2 udl A e
Stane-| (80 b, 40 Litee, 300 K3 Rl (8.0 bar, 4.0 litre, 300 K)

State-2 (200 bar, 16 litrg, 300 K NARI-2 (2.0 bar. 16 litre. 3040 K)
State-3 (1.0 bar. 32 litre. 300 K) a3 (1.0 bar, 32 litre, 300 K

Total heat abserbed by the gas in the process s T Y I F g et e gl
(A0 116 (B4 ] (A 1lal] (B4l

(C) 4000 J (D) Mone of these (C) 40001 J (D) g7 9 i =7

39, Agas is expanded from volume V1o 4V by follow- | 39 U o 7 Frss &) o 9 e VR 4V, aw ganla
i bwver ways - {fTom same mitial state) fifee a1 & | (0TI WIS e )

{a) 1" using reversible isothcrmal expansion from V, (a) I WV A IV GF Jaroira T gHE &l
to 2V, then using reversible adiabatic expansion from ST 3 e iR 2V, WAV e e
IV, 1o dV, T WHR @ S0 a s

(b} I usmg reversible adicbatic expansion from V, to [y d Y # IV, o dvefly WETe WHR & AT
2%, then from 2V, 10 4V, using reversible isothcrmal fifren e men fe 2V, 91 4V 0% S
Cxpansion b o e e B R

Then which of following are correet | | e A g e i e

(A Work done in {a) process = work doac in ib) (&) uEH (a) H B o &9 = usa (b | R
process et

(B} Work done in (b} process = work done in {a) pro= (B) wepm () 9 Frar @ - v (a) @ T
coss . Frd

() Work done in (b) process = work done in {a) pro- () wm () A B e we = wm (a)  fem T
cess e

(D) cannot be predicted (D) ofvslad =l B o s @

4 An aromatic compound ‘A" CSH.CL,, gives AgCl on 40, T e il C.H,Cl, UERTR e AgNO, T
bonding with alcoholic AgNO. solution, and yields &6 T T ApCl #60 & a7 Hifsa sediTnEs &
(:?.I;T?ﬂm. treatment '.'.:lhh:‘].ndn;r: ]l:.'-llin::n:';i-:.ts~ 'ﬁ]..:.mi: S w9 CH, G0 d | s
OMLOaT00n 2Ives 4 mond cnloroefaole acid Willc .
affords u:unilfl o o derivative. The compoisd I'A‘F.EE FE’FH TR AR T W T
K HIIFTES] B Au 8| A AR

CHaCl _— CHLC! —_—
(A (B (A (B)
Cl cl cl Gl
CH,LC| CHCI
o g Cl CH-CI
m@/u & @LJLH iﬁl@ tm@ _
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PART C - MATHEMATICS

41.

42

44,

Ihere are two circles each with radios 5 cme Tongeni
AB iz Incm The lengih of langen) CI is
~C
o] &

[ )
A 15 cm

(8121 cm
(07 24 e
(D) Can'l be determined

ABC is an isosceles tnangle and AC, BC are the
tangenis at Moand N respectively. DE is the diameter
of the circle. ZADF = ZBE(Q = 007 What 15 value of
ZPRDY

{Byan°
(D) Can't be determined
Three circles of equal radil touch each ather as shown
i figure, The radivg of cach circle is | om, What is the
arca of shaded region?

(A)60° i) 2P

1-..'..-! - X |
cm
3 ,

@ -

(D) Mone of these

I a vertex of atriangle is (1, 17 and the med-paints of
two sides through this vertex are (— 1, 2) and (3, 2),
then (he centrowd of the rangle is

41, B ge R gede o) o S om # ) Bl YEn AR, 26
cm #| T':I?fi"EHCDEﬁ A B —
(AN 13 em
(B3 21 ¢
(Cr24 cm
[ Can'l be determaned
42,  ABCus waliws Brga # men AC, BC @99 Moo=n
N R e tm & DE [ o owm B SADP =
LBEQ = 100° &0 SPRD &1 54 &7
(A} 60° (B) 50° (C) 20
(0 Can't be determaned
43. a3 =9 SRR T e & S 99w g @
o w8 e WOE g & Be lem B TW
et wr @t Srnee
25 -xr] . J2 -1
{4 ——d—]c {H‘.n __:-]_ o’
A ?\'IE w
() I {1 Mone of these
b
4. Al P @ v ol (1 1) g g8 aF gl 8
HANT & 7e il (- |, 2y aem3 2) & @& g &1
ok BT —
UGHWORK
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[ ) 7 . -1 7)
(A} ."I-Ef_ IE-] = ] (Ad L 'EJ IE!-]‘?- EJ
' ?ﬁl i 1 T." ?‘l |"1 ?\I
() [1- 3 (B3] \a' 3/ i) [1- 3 (0 o ey
45, The orthocentre of the wiangle formed by (he lises xx 45, oo =0 nEn v =18 [BES P an s g
=Nawix+v=1is ' —
i 1 I] | 1. 1)
Ao Byl o b ESiT
\ 2 ,g)l l3 3/ IIM,_E.EJ tEI-]lR-aJ
(CHih, 0) 1— l] (1.1}
: o P (O i, 0 Im'»# .
46.  Twodice are rolled simultaneously. Find the probakbility 46, TUTH SET N S R e 9 W e w i —
of Getiing a total of 9
1 1 B g A .1 B ]_ ' i ] ‘:I.
@3 Bz ©Crs Wk W s Blgy, ©F Dy
47, The mean of 10 ebesevation i 15 Ifme cheavatay | 37 23 st o @M= AR 102 ﬂﬁ‘:.qas fferzr 25 &
namehy 23, 15 deleted, the new mean 15 - BET Rl SR W T WA A E -
(A)25  (Bp20  (Cy2% (D) 22 (23 (B) 20 (€28 (D22
48. In fgurc, XY is a linc parallcl to the side BC and | 48 Fim 5 XY, 900 BC & wH=n 8 men AARC
AABC, BE || AC and CF || AB meet XY in E and F BE || AC 79T CF | AB, XY 71 #791. f4 E7on F
respectively. Also EX = FY, then ar{AABE) is equal i &1 @ EX = FY, @ an AABE) 73T &
3]
.A.
___.-"'.-‘ H"\.\_L
r_,a"‘- L.""'
(A arf AABC) (A} ar AABC)
(B) arfAACF) (B} ar{AACE)
‘g] ““I‘"‘:“FE?} RS (C) ar{AXEB) + aAYFC)
C e ok e (D) None of these
SPACE FORROUCTTWORK
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4. (x+ v —ix - v) can be factonzed as :- #. (v - (x-v)F @ uEET #
(A) 2y(3x? + ¥7) (B} 2x(3x" + %) (A) 2v(3x? + 37 (B) 2x(3x? £ +%)
(C) 2337 + x%) (D) 2xix? + 3v7%) (C) 2vi3? + x%) (D) 2a(x® + 3v7)
= A 2 1 x R
Ay When (x' - 2% 4 px — qb 65 divided by (x° - 2x - S, W (- 2x 4 px—q) WY fxd— 2x —3) & e
31, the nde x— @) Th I ] d :
) e o= - Thr e ok ffen aIenm 8, 9 9E (x— 6) &) W9 op A0 g &
|
HIS.
A)p==-Lq==6 (Blp=2,q=-6
(Abp=-2g=-6 (Blp=2q=-6
Cip=-%q=6 (Dip=2q-=6
':-]F' q o :-:Ip I;'I * [C-Ipz_lq=ﬁ I:D:Ip=2.|:|=l':l
S, o pbetheroots x +px—q=10and 7, % be S1. A4 o pwliET P px-gq=0% 948 2,
- (=71 {4z = &) HEl g, 4 HAIERY K +px+r=04 45 & o4
the ronts of X* + px + 1= 0 then "5 Cry = ot =y =)
if=yrif-a)
A B Crr Dyg+r1
k e MR B W1  (Blq  (Or  Dg+r
_ ! ’ K +1dx+9
52, If x is real then the value of the expression 52, - & x ARAINE B TN EEE
x + 2w+ 3
X +14x+9 -
e i TR —
T it
(A) -3 and 3 (BY — and 3 tA) -3 and 3 (Bt it 5
(") —4 and 4 (D) -5 and 4 (C) —4 and 4 (0} -5 and 4
A3, ]fx=2+,,l'§ UImﬂE"ﬁﬂjﬂﬂﬂr?{q—??ﬁ.J—th 3. 'EIE:{=1+1|'5 Hi_.{_l._?xz+'|3_‘_|2|ﬁ| EE ]
- |.3 !iS- - a.
B GOCy -9 0 .
e e (A) 3(B) 6(C) 9 (D)9
- B8y, 8,8, BE i AL whers 1, >0 gl them 8. A= a.a.a...a FHFH ot A & AT a =0y
value of .E—1 'a_+.'.'a—? a, ot N I._ % 1
3 1'|-.u| 2 3 .,.l 3 .ullﬂ.' I-‘Ila_z | HIEE _.'.I|Ea L 1||IEF|1 +'||IE &l
1 HiA B —
—_—
..|'E|r” +4)8, ’ 1
; ! (A) Ja; + 8, (B Ja, -5,
AN T T B o
W '-."3_1 +".|IE'" vy _".IE fi n—1
i a-1 () ,||"a, A, (D Jo, +.||I|IE-
() -u.n"ﬂ_| 2 "."*"T @) "."';"".IIE
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A5 |+ X243 44204+ 1N2F= . 1+22+3F+42+ _+ 10" =
(A) 09 2= (B o2 (AN 9921 (B e 2™
(C) 1 +ug 3w (07 Mone of these (C) 1+ vy 2i® (1) Mone of these
6. Sumoftheseries 3+ T+ 14+ 24 +37+.(10 S6, U 3 T4 14244 3T 4+ (10 U= TF) F AT @
terms), 8 — _
(A} 560 (B) 370 (M) 360 (B) 570
(C) 580 (0 Mone of these (") 580 (0 MNone of these
57, 1T & GM™2 be mseried between 1040 and 3, then third g7 ofE 160 e 5 F wen 4 GMs vfie fFg G 2
Gl will be - ma dEa GM B —
R I e L e (A% (B} LS (€20 (D) 40
SR, I between T oand 1731 E|'||:I'l:..‘ arz n H.M s and ratin s afr | 131 # WA n HM S ufre fsd wm
of ™ gnd (n-13" harmonic means s 9 - %, then e i i
i g o T oo (- ) ERERT W W A 9
va ucll::- n Is[; : - o 5@ e o9 W AT
(A) (B) 1 (C) (L) (A112 (B3 ()5 (D) 14
3n
59 Wsectl = J7., ond ?cé_l < 2w Then the vals: of gy afE  gocH = J2 . T '3?'1-: fil. < 2m. 9
1+tanf + cosecs 1+ tanh + cosech
1+ coth — cosecl T+ Cotd ~cosgel T ¥
1 = 1
(A)-1 (B 477 1C)= 2 (D)1 (-1 B=7F O- 2 D]
6. IfA+B+C =g thensin 2A + g0 28+ sin 2C M, TWI A+B+ C=m @4 sin 2A + sin 2B+ = 2C
(A) 4sin A sin B cos C. {B) dsm A sin B sin {A) 4sin A sin B cos C. {B) 4sm A sin B sin
. C
(Ch 4cos A sin B sin C. {D} Hone of these (C) 4cos A sin B gin € (D} None of these
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